
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

การขยายพหนุาม

(5x − 2)(4x + 2)(5x + 1) (5x + 4)(2x + 5)(5x − 1)

5x + (6 + 2x)(x + 4)(6x − 6) (4x − 1)(3x − 6)(3x − 3)

6x + (6 − 3x)(5x − 1)(2x − 4) (5x + 5)(4x + 5x − 5) − (2x − 6)(4x − 1)2

(x − 2)(4x + 5)(4x − 6) (2x + 5)(5x − 6) + 5x + 6x − 52 2

(2x − 2)(2x + 4x − 5) + (5x − 5)(5x + 4)2 (6x + 1)(x − 1) − x + 6x + 62 2
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ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

การขยายพหนุาม

(5x − 2)(4x + 2)(5x + 1)

100x + 30x − 18x − 43 2

(5x + 4)(2x + 5)(5x − 1)

50x + 155x + 67x − 203 2

5x + (6 + 2x)(x + 4)(6x − 6)

12x + 72x + 65x − 1443 2

(4x − 1)(3x − 6)(3x − 3)

36x − 117x + 99x − 183 2

6x + (6 − 3x)(5x − 1)(2x − 4)

−30x + 126x − 138x + 243 2

(5x + 5)(4x + 5x − 5) − (2x − 6)(4x − 1)2

20x + 37x + 26x − 313 2

(x − 2)(4x + 5)(4x − 6)

16x − 36x − 22x + 603 2

(2x + 5)(5x − 6) + 5x + 6x − 52 2

10x − 7x + 31x − 353 2

(2x − 2)(2x + 4x − 5) + (5x − 5)(5x + 4)2

4x + 29x − 23x − 103 2

(6x + 1)(x − 1) − x + 6x + 62 2

6x − 7x + 7x + 53 2
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